JERRYGREER'SENGINEERING©2020

Motor Mounts
Revisecd: 10-21-2020

HEADBOLT
AND WASHER BRACKET
N ///DN FRAME
éi#za—s
1 —&FT ¢
8<:1|l
MOUNT ON i
TRANSMISSION |

13
/TAB ON FRAME
Eh%
10~11

i

CRANKCASE

Page 1 Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




Jerry Greer's Engineering - 1947 Chief - Motor Mounts

Ref Part # Qty Description Price
1 38235 1 CYLINDER HEAD BRACKET, ; Cad Plated $20.00
2 JG-2374 1 FASTENERS, Cylinder Head Bracket $6.75
3 207113 2 BOLT, 5/16"-24 X 1"(Hex) $3.00
4 922007 2 WASHER, 5/16" Split Lock; Cad Plated $0.75
5 JG-2688 1 SPACERS, cylinder head bracket (1) .030", (1) .060", and (1) .179" $13.00
6 40594 1 STRAP, spark plug cable tube support; Cad Plated $9.00
7 JG-2379 1 MOTOR MOUNTS, left and right front $180.00
8 74483 1 MOTOR MOUNT, left front, (Order Kit JG-2379) $90.00
9 74482 1 MOTOR MOUNT, right front, (Order Kit JG-2379) $90.00
10 38091 1 MOTOR MOUNT SPACER, 4-1/4" long (Standard); Cad Plated $18.00
11 JG-2378 1 MOTOR MOUNT SPACER, 4-3/8" long (.125 oversize), for worn motor mounts, cut as required; Cad Plated $16.25
12 JG-2381 1 FASTENER, front motor mount bolt $50.00
13 JG-2383 1 FASTENER, transmission to frame $11.00
14 37216 1 BOLT, 7/16"-20 X 2.063"(Hex); Cad Plated $6.75
15 37618 1 WASHER, 7/16", .135" thick; Cad Plated $1.50
16 922009 1 WASHER, 7/16" Split Lock; Cad Plated $0.50
17 37316 1 NUT, 7/16"-20(Hex), 5/8" Flats; Cad Plated $3.50

Page 2

Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




